
C-Beam Machine XLarge 

Checklist
Part Size Quantity
C-Beam™ Linear Rail 1000mm 1
C-Beam™ Linear Rail 500mm 2
C-Beam™ Linear Rail 250mm 3
V-Slot™ 20x40 Linear Rail 1000mm (960mm) 1
V-Slot™ 20x60 Linear Rail 1000mm 2
V-Slot™ 20x60 Linear Rail 500mm 2
90 Degree Joining Plate NA 10
Cast Corner Bracket NA 26
Black Angle Corner Connector NA 4
Double L Bracket NA 2
Router/Spindle Mount NA 1
C-Beam™ Gantry Plate - XLarge NA 7
C-Beam™ End Mount NA 8
Nut Block for 8mm Metric Acme Lead Screw NA 6
Anti-Backlash Nut Block for 8mm Metric Acme Lead Screw NA 1
Xtreme Solid V Wheel™ Kit NA 30
Eccentric Spacer 6mm NA 15
Aluminum Spacers 3mm NA 14
Aluminum Spacers 6mm NA 15
Aluminum Spacers 9mm NA 12
Aluminum Spacers 20mm NA 8
Aluminum Spacers 40mm NA 8
Slot Washer - 15x5x2mm NA 12
Ball Bearing 688Z 8x16x5 NA 8
8mm Shim NA 8
Lock Collar 8mm NA 8
1/4" x 8mm Flexible Coupling NA 4
8mm Metric Acme Lead Screw 1000mm 1
8mm Metric Acme Lead Screw 500mm 2
8mm Metric Acme Lead Screw 250mm 1
Low Profile Screws M5 8mm 64
Low Profile Screws M5 10mm 34
Low Profile Screws M5 15mm 24
Low Profile Screws M5 20mm 46
Low Profile Screws M5 25mm 6
Low Profile Screws M5 30mm 13
Low Profile Screws M5 40mm 4
Low Profile Screws M5 55mm 8
Low Profile Screws M5 60mm 16
Tee Nuts NA 99
1/2’’ MDF Panel 900mm x 500mm 2
1/2’’ MDF Panel 800mm x 400mm 1


